Q.

@ 2HIX | HiD B/ 2% 7

| "oFAEEEETLILLS, (BI0L)

® 9 x 0.1 = @ 4 xX 0.2 =
@ 5 X 0.6 = ® 3 X 0.3 =
® 6 X 0.7 =

2 ROFEXZEETLILLY, (BIOK)

® | @ 4 9 ©) | 4
x 0,2 x 0.8 x 0.7
@ 8 4 ® 9 9
x 0.6 x 0.9

® HEHU Eﬁ@@@j@@%@@&a?@



Bf€905)
Nl
SEROHEES @] <§ o

© 2#iX | HiD A/ 2%z

| "oFAEEEETLILLS, (BI0L)

® 9 x 0.1 = 0.9 ® 4 x 0.2 = 0.8

@ 5 X 0.6

3.0 ® 3 x 0.3 = 0.9

® 6 x 0.7 = 4.2

2 ROFEEZEHETLELLY, (BI0R)

@® || @ 4 9 ©) | 4
x 0,2 x 0.8 x O 17
2 2 392 9 8
@ 8 4 ® 9 9
x 0 6 x 0.9
5 0.4 8 9 1

® HEHL Ex zm@iﬂﬁ?‘gﬁ%@k%

Erh



